Seat No.: Enrolment No.

GUJARAT TECHNOLOGICAL UNIVERSITY
DIPLOMA ENGG.- V" SEMESTER-EXAMINATION - JUNE- 2012

Subject code: 352904 Date: 07/06/2012
Subject Name: Production planning

Time: 10:30 am — 01:00 pm Total Marks: 70
Instructions:

1. Attempt all questions.
2. Make suitable assumptions wherever necessary.
3. Figures to the right indicate full marks.
4. English version is considered to be Authentic
Q.1 (a) Explain functions of Productions planning. 07
(b)  Explain factors affecting selection of site for Textile industries. 07
Q.2 (@) Explain importance of maintaining required humidity giving their norms Qg
in spinning and weaving departments.

(b) Explain any one humidification plant used in textile industries. 08
OR
(b)  Explain methods of lay out. 08
Q.3
(@) Give norms for waste and sequence of m/c for spinning 40° combed 07
yarn.
(b) Calculate time required to prepare one lap on scutcher from the 07
following.
Lap length : 66 yds., Calender roller dia.: 7 inches,
calendar roller speed :16 RPM , Efficiency :80% ,
Tension draft between Cal.roller and Lap roller : 1.08
OR
Q.3 (a) Give norms for waste and sequence of m/c for spinning 50° P/C(67/33) 07
Yarn.
(b) Calculate time required to build one cone on warp winding m/c from the 07
following

Winding speed : 1100 YPM, Efficiency: 80 %,
Weight of yarn on full cone : 2.5 kgs., Count of yarn : 40°
Q.4 Calculate the no.of AutoLooms and pirn winding machines required for 14
the production of 40,000 yards of shirting fabric per day .Assume
suitable particulars required.
OR
Q.4 Calculate required no. of Ring frame spindles and Speed frame spindles 14
for the production of 2000 kgs. of 30s carded yarn per shift of eight
hours. Assume suitable data required.

Q.5 (@) Draw lay out of 4 Draw frames. 04
(b) Draw lay out of 4 Autoconers. 04
(c) Draw lay out of 40 Ring frames. 06
OR
Q.5 (@) Draw lay out of 20 Cards. 05
(b) Draw lay out of 24 Auto looms. 05
(c)) Draw lay out of 2 Warping m/c. 04
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